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Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.
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5. The OMR Answer Sheet is inside this Question Booklet.
When you are directed to open the Question Booklet, take
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answer or more than one answers for any question.

8. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using Blue
Ball Point Pen.

9. If there is any sort of ambiguity/ mistake either of printing
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T AT+C @ B+CT
(3 AT+3B (4) AT+BT
x+1 8 5|
e | 2 x+2 5 |=o@xH
2 3 x+4
T S &
M 1,9 @ -1,9
3 1,-9 4 -1,-9
12 2 e r
_aﬁ,@-[z 3]3%11}\ -kA-1,=0,
Wk WERR
(1) 4 2 4
3 2 @ 1
K = 1w, fos fom fe wdeo
o o1 el T A, € -
x+Ky+3z=0 .
Ke+2y+2z=0
2x+8y+4z=0
5 5
O K=-2,-3 @ K=32
® k=32 (@ k=32

4 PR, X =10, ¢, {¢}} 1 9w W =4 &,

ql T U ]
1) ¢e PRX) 2) {9 P
B {hePX @ 0ePX
e 1 8 i e P T 4 2
D) AUAY=A

(@) AUBULUC=@A'AB'ACY
3 AnBY=AuvB)
4 AuB'=A'vBY}

1
™ 1

e-ol

If A and B are matrices of’ order'
3 x 2 and matrix C is of order
2 x 3, then which of the following

matrice is not defined ? o

1) AT+C @y B+CT

(3) AT+B @ AT+BT
x+1 8 5|

If |12 x+2 b5 {= 0, then
2 3 x+4]

values of x are equalté ~* .

1 1,9 2 -1,9

@ 1,-9 @ -1,-9

| 12
IfA= and A2-kA -1 =
' 2 3 2

then k is equal to
(1) 4 2 4
@ 2 @ 1

Values of K for which following
system of equations has non trivial
solution, will be

x+Ky+3z=0

Kx+2y+22=0

ox+ 3y + 4z=0

5 5,
&N K=—2,—4 @ K=%2

1 5
@) K= 2, 2 @ K=y
If PX) is the power set of X = {0, ; {6}},
then incorrect statement is
1) ¢e PX) 2 {¢e PX).
3 {{ojie P(ff) 4) 0e PX)

Which of the following is not
De’ Morgan’s law ?
(1) (AUA)=A

2 AUBUC=A'NB'NC)

3) AnByY=@'uB)
4 AUBY=@A'UBY
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11.

5t & e demet £ ot n%
R, T R fe smRaienia 2 -
¥ Renesin®? § + cos?n =17, @
TSI RE -

(1) Tged vy wHfa el

(2) W T HoRTH TE

(3) EshI Y] wH e &

(4) g

AR B f(x) = ﬁw [ wewm

I B g, HTIRER S

(1) 0,2 @ @, =)
@ 1o, 2] 4 R-[0, 1)

Tg=[ R # ufonfva fo & @ | @
S Yhehi TEi & ?

® €-en @ [E:JZ;J

@) @ +e )y  (4) o2

W sin x = sin 20 I 5 7l
g%mﬁmﬁa?ﬁﬂé@r%

1 o 2 1
3 2 4 3

IR A+ B =90° @

tanAtanB+tan Acot B sin2B

\/

12.

13,

sin A sec B “eosZ A
TWER B

(1) cot A (2) sinB
tan A

(8) tan A 4 ot B .
qfe o T°T ¢ NUA TGATW & VW BT §
: 1

7 tan 6 =—%-.aen sin ¢ =.ﬁ€f, at

0 + 20§ B

1) 30° @ 45°

(3) 60° 4) 90°

e sin 0 +sin2 @ +sind 0 =1 @
4 cost 0 —cos® QLR .

(1) cos20 (2; 2co828
(3) 4cos280 (4 8cos26

10.

For any {wo real numbers § and 7,
a relation R is defined as follows :
“¢ Rne>sin? & + cos2 1 = 17, then
relation R is -

(1) Reflexive.but not symmetric
(2) Symmetric but not transitive
(3) Transitive but not symmetric
(4) Equivalence

Range of real function f(x) = ﬁ is,
X

where [] 1is greatest integer
function

1) (0,2 (2) (2, )

3 [0, 2] 4 R-[0, 1

Which of the following function
defined on set R is not one — one ?

v et —¢

® @-eH @ (e,:+e_rj

® +e) @ e

The number of solutions of equation
sin x = sin 2x lying between 2and21s
o @ 1

(3) 2 ‘4) 3

If A+ B =90° then

tan Atan B + tan A cot B surl2 B

' [ 12,

sin A sec B T eosZ A

is equal to
(1) cotA

(8) tan A

(2) sinB
tan A
@ cot B

If 6 and ¢ are angles in the first
quadrant such that tan. =%and

1
sin ¢ = ‘—“\’1—6, then 6 + 2¢ is equal to
(1) 30° (2) 45°
(3) 60° 4) 90°
If sin © + sinZ 0 + sin3 8 = 1, then
4 cos? 0 — cos® 8 is equal to

(1) cos20 (2) 2cos829
(8 4cos20 (4) 8cos29
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14.

'&lﬁ gin~! x“+ sin! 2;: &,
coslx+cosly RIUME s
2n x
W 3 @%F =
i r °
@) 3 R

15. 'G!'Fﬂ’?F(UT sin 20 = cos 30 H ET &

16.

17.

(1) [2n+ 1) 2)5; (Qn—%)m
2 (2n +l) n; (2n-%]

&) (2n+1)6,(2n N

oA

*L P e?

(4" @i+ 1) § ;(@n-1) "é

7 e Sl T & Il R
Hie % = RR 51 =T 60° 3
7 3NEES TIG I, ST HI0 302 8, T
"ﬁlﬁﬁa‘ﬁém% .

M, 217, @) 2874

@ @3+ @ 147,
bauzzx 3y=53R3x~-4y=7"F

e % o § Rree fa%e 154 901 598
% TR | T BT AHE 8
(1) 22+y2+2x+ 2y =47

"2 2+y2—2x+ 2y +47=0

(3) a2 +y2—2x+ 2y =47
() aZ+y?+ 2+ 2y +47=0
:‘1 1 ]

18. A x® + y2 + 2 (Zk + 3)x — 2ky +

07 -

2k + 3)2+ k2 —r2= 0 9@l & TH
ﬁﬁmﬁhﬁﬁﬁ%?ﬁﬁaﬁﬁa
WwwfRad ?

Q) x—2y+3=0

@ x—2-3=0

(3) x+2y—~3=0

4 x+2y+3=0

14.

16.

17.

18.

‘if si Tx+ sm y —%‘, then the
value of cos~ x + cosly is’ ,
i n .
(1) ? @ g o
T T
LE) I @ 3

Solutions of equation sin 26'= cos 30
are

@D (2n + 1] 2)5 [Zn —%) Tt 7
@ (2:1 + 1) x; [én _ %) z
@) @o+Dg;@En-D3
@ @n+Dy;@n-1Dg

From the top of a 7 m high,
building, the angle of elevation of
the top of a tower is 60° and the
angle of depression of its foot is

30°. The height of the tower is °

equalto '

D 2im (2) 28 m
@) (W3+Tm (4) 14m

The lines 2x— 3y = 5 and 3x— 4y 7
are diameters of a cu'cle whose area
is equal to 154 square units. The
equation of the circle 1s

Q) «2+y2+2x+ 2y =47

(D), X2 +y2—2x+ 2y +47T=0

(3) x%+y2—2x+2y=47
(4 x2+y2+2x+2y+47=0

If x2 + y2 + 2 (2k + 3)x - 2ky +
2k + 3)2 + k% — r2 = 0 represents-
the family of circles, then their
centres lie on the line :

() x—2y+3=0

@) x-2y-3=0

(B x+2y—-3=0

4 x+2y+3=0
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20.

21.

22,

23.

24.

iz P(p, 0), Q(g, 0), R(0, p) T
S0, q) T% wgds PQSR %1 fmin
@8, A d

(1) THRR-Tg

(2) T

(3) ki =g

4) sw

& 1 <t g Yo, Jenatf x+y~1=0
T x+y+2=0R G &, AT &
SAh 8

@ % @

® 32@ @

AABC e ofif A, 0), B(-2, 1) e
C(5, 2) &, i vireicheg &

L 2D @ 2,7

@ @-7 @ 2,-D

T 22 + y2 = 2 3K W y2 = 8x i
IATTE Tl [ @i §

(1) x+ty—-2=0 (2) x+y+2=0
B) 26-y-2=0(4) 2x+y—-2=0
A6, 3) ; B3, 5 ; C@4, —2) ;
D(x, 3x) =’ fog € | iy ADBC sk
AABC® et 1: 2% agma # §, |
O xTECe -

T
@z @ @i u
I} frelt farg & wae™ y2 = dax W

R R aiter wEee s R

Epny), Eamg) T Egmp), W BT
A, df=midsRmaad?

Q) & +8+E=0
(2) N1 +ng+ns=0

(3) Ny Fng+ng=3I=N

(@) & +E+E=ny+ny+ng

e N

11
@ g

1 28.

24.

19. Coordinates P(p, 0), Q(g, 0), R(0, p)

and S, ¢) form quadrilateral
PQSR, then quadrilateral is.

(1) Parallelogram

(2) Rhombus
(3) Cyclic quadrilateral
(4) Rectangle

Two sides of a square lie on the
linesx+y—-1=0andx+y+2=0,
then the area of the square is

» 35 @ 3
@ B @ 3

. The orthocentre of AABC with

vertices A(l, 0), B(-2, 1) and C(, 2)

2) 2,7
(4) (_'2s ""7)

18
M @D
®) @ -7

. Equation of common tangent/s to

the circle 22 + y2 = 2 and the

- parabola y% = 8x is

(1) x*y—-2=0 (2 x+y+2=0
@) 2x-y-2=004) 2x+y-2=0
D(x, 3x) are four points. If the
areas of ADBC and AABC are’'in
the ratio 1; 2, then x is équal to

o = ® %5

@ 2 @ B

If normals drawn from any point
to the parabola y% = 4ax meet the
parabola at points (§;,n1), €zmp)
and (§;3,M3), then which of the
following is true ?

(D) & +E+E=0,

(@ Ny +npt+ng=0

(3) W1 +Mg+ny= Constant

(@) Ey+&+E=n +np+n,
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26.

" 27,

28,

29.
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A S5 + X = 1 e s &
mﬁ@ﬁmﬁw%

sz_x(z)

@)] a2-:—4 a 44

(3) 2+y2=a2+4(4)

4
wf= 1 + e cos 6 % FTaeaRiEl
A
(1) \J(e®— 1) [cos 6 + sin 6] ="l‘3
le
r.

@ €- 1)‘005 8+\(e2—1) sinf==

®. V@D oos 0.1~ Dsin o="

@ @-Dasox\E-Dsino=

TR fegeft A, B, G, D ¥ Rt s
L2, B) (2, 1 3), (4, 4, 2) T
@, 1, —4) & @1 AB =1 CD W 529
E2+ 49, T ETEREM S+

-1 !

@ =1 ¥

(3)°0.

(@) w3 vt areatees T gy e
TR £ 25+ 2K) = 1999
F(4i—3j +.12k) + 3 =0 h HEA HIT
%:ﬂﬁmwwaﬂw%

(1) 7 (25i+ 175~ 62k) =238 «
2). ¥- (i~ 35j +10k) = 256
3) F- (i 35j,- 10K) = 256
4) F.(25i+ 17j + 62Kk) = 256

lim . e*—3*

=02 x-1)

{1y - feY
(1) 3log [5) @) log [g)
@3 3log [3) @ 3log [E]
, 3 e

-
i

+

IR P8

“’ml*ia-“’ml"ia
'P"Ho S

T E

A T pia

25.

26.

27.

28.

29,

Locus of mid points of focal
2

chords of the ellipse 52:2"+ % =11is

(1)

2 ex

y_ "X . @) 2+L“;

@) R+yi=a?+4(Q) i

—a a2 4" 2

Equation of asymptotes to the
=1+ecosdare

conc r

(1) (e?-1) [cos 6 + sin O] =l—e
2 (e2—1)cos0+/(2—1)sin® =
@) VE2-1)cos0+ (2~ 1)31,19_-13

@ E-1oos+\E?-1 sme——

Ifcoordinates ofpoints A, B, C, D are
(1: 2) 5), (—2, 1’ 3): (4, 4! 2) and
(2, 1, -4) respectively and
projection of AB on CD is £2 + 4,
then £ will be equal to

‘5‘

@M1

2) -1
3) o
(4) No real value is possible
Equation of a plane which bisect.
the angle between the planes
F(1+2j+2k)=19and
r-(4i—3j+12k)+3=0is
(1) 7-(2bi+ 17j —62k) =238
(2) ©-(i-35j+ 10k) =266
(3) ¥- (@ +3b6j —10k) =256
(4) ¥-(26i+ 17 +62k) =256
: X_ax
lim e*—3 is equal to L

08 z-1

(1) 3log [%J @ log [%)
3) 3log (3) @) 3log (EJ
3 e

Hl L HL R
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31.

32.

33.

34.

35.

ﬂﬁf(x)z{_ﬁjﬁizg,ﬁﬁf%
(1) x=1Wdaq

(@) x=0 R Gaa

(3) x=-1RIE

(4) el 3.

IR e f(x) = 25 + 3 U £ 5 TB
T B R ) = gl ) |, W92’
WARE -
D 2
®3) 1

@ 3
@0

T C o 98 WH Red BeM f(x) = log,x
+ foru e [1, 4], § Sis ReqeE
O T TseY e ST 8, 2

(1). log4 (2) logee
@) 3loge @ -;—1%4

Wﬂx)=x3;-x%ﬁzaﬁqﬂ%
(1) ST -3 <x<0& Mg

Q) x<3%fm

(3) x> 3wy

@) =t 7

TF T+ TRdl g | wei-tan Hi
o 36 fog ® qw farg @ faem
el Y@ 6t yerar i R |, @ 9
THR

Q) FTWM@EE+y:=¢?)

(2) TEAY (y2 = 4cx)

(@) o7 ¥ aEE (y = cxd)

@) fmtEe™ (2 —y2 =c?)

Fe £(#) = 23 — 1242 + 45x + 10
3T [0, 6] sham T d

(1) 64 (2) 80

8)" 60 @ 0

"32.

34.

ifxe Q
ifxe Q

(1) Continuousat x=1
(2), Continuous at x=0

(8Y*Continuous at x =-1
(4)» Discontinuous everywhere

~2
Iff(x) = o , then fis

_x,,

fd
. If fiitnction f(x) = x® + Y3 and

= g1 () for some values of x

th&f*value of g'1) is -
1) 2 2 3
3) 1 @ 0

A value of C, for 'which the
conclusion of Lagrange’s mean
valgg theorem holds for 'the
furpfion. f(x) = log,x on the

intgxyal [1,.4], is

(Dglogd (2) loge
o 1

(3)»3 logye 4 2 log 4

Function f(x) = 2%~ is monotonically
increasing

(1fonly for-3<x<0

OWMor x< 3

) Horx>3

(4)¢“Never

i
SIo‘ji“é’ of tangent at any point of a
curve i3 thrice the slope of the
Iine joining that point with
origin, then that curve is
(1) Circle (x% + y2=¢?)
(2) Parabola (y2 = 4cx)
(3) fSemi cubical parabola (y = cxd)
4) gm,Hyperbola 2 -y2=c?

. In @Qihterval [0, 6], maximum

valﬁ of function f(x) = x3 — 122+
45x + 10 is
(1) 64
@) 60

) 80
(@) 0
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36.

37..

. T
U ST 1 b TAH x =7 W
sin 3x cos 5x % TWEHH H YA FN

e

@ =g @ 3
® 16 @ o
.[ tﬁnul 1 +x dx 2

@) ';'cos“laﬁ+§‘\f1 EPTI

(2) 2sm1x-—§ —2+c

! ¢ ,(3_),‘ Ecqs‘l x.—§\}1 —-xZ+e

38.

39.

40,

07

+3{1—x2

4) g sin~! x 5 tc

_Tlog [E—lJ dx TR

X
1 2 (2) 1’ )
@ 0 @ 3
af jxf(x)dx 25,0509,
f.(g) T Y
W% @ o
@3 @ 2

Eﬁﬁ'fy=ain 2x, y = cos 2x Ul y-AQ
& #w uRwg wom wguiw ¥ Rm
GERTR

L Y
@B (Fey)

&

36.

37.

38.

39

40.

Which value of the constant of

integration will make the
integral of sin 3x cos bx to zero at
K,
x=7y"
1 1
W7 - @3F
1
® 15 @ 0
tan i [ dx 1t
I an 1+ dxisequalto

(1) géos‘ x+§\f 1-x%+c

2) "azgsin"lx.—-% 1-xZ+c

lx—-% 1-22+¢
Af1— 2
x+

@) Fsinlx+gte

(3) g cos™

2 9 _
Ilog (-—--—IJ dx is equal to
0 x
@1 -
T
@ %

Q) 2
B 0

If J‘x f(x)dx= t5 t >0, then

f (%) ig equal to
(1)
3

@0

Ohih Gl

@ 2

The area bounded by the curves

.y = sin 2x,-y =.cos 2x and y-axis’

in first quadrant is -

w21 g (Eoy
@2 g (B




41.

42.

43.

44,

45.

46.

TH y =2f — 242, x-37 AT TEH Q
fife forgeti &t wiRal % = W=
RELTON

M 1= @ 1

@ @ 1z

.ﬂﬁx2+y2=4nzﬂﬂ13$y=sin§

% e o g0 W H TR et
54

» @-9 . @5

@ @+ @) @9

WA A 3R B § frg € ik Rig P,
W@Evs AB ® 23 % Ium H
o T | 9 A P & &y

afew o a+ 2b A A R, A B,

e afew g -
1) 2+3b @ 3a+b
@) a2-3b () 3a-b

afe (31 — 2j + 2k) 3K (- — 2k) Tk °

TGS g A IS

weRid @ € dl gae femul % nw S
TS - '
7T . I
@) % @ .3
T [
® % @ %

TRa=i—j+kalc=-—jal
axb=c;ab=1daRvbw=d
@ i-j+k @) i
(&) I @ k

1

> . 1
z_lﬁa=ﬁ(31+k)?{?ﬂf;=7

(2i+ 3 — 6k) §, A (2a —D) - [(@ x

b) X (a + 2b)] 1 TF SR
1) -3 2 3
@) 5 4) -5

- 43,

48,

. The area bounded by the curve

y = x? — 22, x-axis and ordinates
of its two minimum points is -

W 15 @ T

2
@ 2 @ 15

. The area between circle x2 + y% =

4 72 and the curve y = sin%
which lies in the first quadrant is

m@-y @

@) @+4) @) @-4y

l1et A and B be two points and
point P divides line segment AB
in the ratio 2:3. If position

vectors of A and P be a + 2b and
=+ = _ . “pw
a respectively, then position

vector of B will be
@O a+3b 2) 3a+b
(3) a-3b @) 3a-b

. If B8i — 2§ + 2k) and (H - 2k)

represents two adjacent sides of a
parallelogram, then angle
between its diagonals is equal to

W 5 ® %
@ 3 @ %

Ifa=i—j+kande=-i-jand
§>_<B)= E’;E’-E’= 1, then vector B

is equal to
1) i-j+k @) i
3 i 4 k

Ifﬁ'=ﬁ(3i + k) andl‘:’:%

(2i + 3j — 6k), theh the value of
(22 -B) - [(@xB) x (@ + 2B)] is

equal to .
(1) -3 (2) 3
@ 5 @ -5

07




47. W@ a=3i—j—2kaRb=2i+35+
k4 3 +B) X (2 - By suet R,
(1) —10i+ 14j —22k
(2) 10i-14j—22k
(8) —10i+ 14j + 22k
(4) -10i—14j — 22k
48, WiRwi-2j+ ks afew 4i—4) + Tk
. WIS Y

323084

%5 @ 15
o oLy
49. ?T%E’,E"aftt"c’mqaeﬁﬂ m 7 39
"m%ﬁzx(ﬁxaj%@,a;
3R b % oo S T0E ]
W % @) %%
3 3% @ T

i

50. WRW a[(B+c)x (@+ Db + )l
M 0 @. BB
@ “[EB3 @ 2[EP%]

51. aft g=madt 2, 3, a 9u1 11 %1 9
Rreem 3.5 8, A fmfiemd a =l
wER? -
(1) 3a2—-26a+55=0
(2) 3a2—32a+84-=_0 ’
(B) 8a2-34a+91=0
@ 3a2—23a+44=0 3

52. 4fe 16 &0, H A 16 & lg’éﬁq
g Filhel § ¥ TH 16 A S0 e
forgrr T & el R D 3,
49 5 @} itewdl §-siet w2, @ W
i ko a1 6 - SR
(1) 16.0°
(3) 15.8

841

@) 16.2
(@) 14.0

07

10

47.

48,

49,

50.

51.

52.

JHE=8i-j-2kandB=2i+ 3+
k, then @@ + b) ><} (& -b)’is eqﬁgf to

) —10i + 145 = 29k
(@) 10i- 14j- 22k

(3) =101 + 14 + 22k
(4) —10i - 14j— 22k

The projection of the vector i — 2j
+ k on the vector 4i — 4j + 7k i

m 5 @ 15
@) 28 @ 8

Ifa, b and © are non-coplanar unit
'vectors such that a x, (b X ¢) =
o, .
b+c¢

-—\,_; , then angie'bétyveen aandb
is equal to

M = @ 3

') 31_4; D=

The vector 3-[(3 + E’) X (2 +b+ E’)]
is equal to

@ o )

@ —~[EBcl ‘(@ 2[@BC]

If the standard deviation of the

numbers 2, 3, a and 11 is 3.5,
then which of the following is

~F =3 —

[3B ¢

-correct ?

(1) 3a2-26a+55=0
(2) '3a2-32a+84=10
(3) 3a2-84a+91=0
(4) 3a2-23a+44=0.
The mean of 16 observations is
16, If one of the observation
value 16 is deleted and three new

observations 3, 4 and 5 are added
to data. Then the ‘mean’ gf new

data is s
(1) 16.0 @ 162 .
(3) 15.8

4) 14.0

I T M N O T T I

L T S Sy e U, [ T T




b3.

54,

86.

6.

67,

58.

AR BH QoY | w7 T g uieq |
B & wiear 0.6 R | !ﬂ%a’ﬁf%@
Y w2t Y iR 0.2 ], § P(A) +
P(B) SR & -
(1) 0.4 2 0.8
3 ‘1.2 4) 1.8 |
i S ugad A 3 BW yoR £ 5
P(A) = 0.7, P(B A) = 0.5, P(B) = 0.4,
@ P (L_ T ]
AuB

® 3 @ 3

! {
® 1 @ 3
ﬁwmw.agamww%
a-,i 010 [10-20 [20-80|30-40 |40.50{50.60[60-70 | TD-8D
m 5 IS 7T 12 28 20 10 10
1)~ 4087 - (2 43.67
(3) 46.67 (4) 5067
n Y} =7 Arew 78 | aﬁmiwﬁ

1, fidf & 2, e & 3 afk w=h TR

TRTAT ST ], 9 T e R ~
(1) a-@ @) %+@n+1)

@) z+%1 @ %

feue =t =7 A 3R WEROr S 4

—(@n+ 1);|

ﬁti% Al Plx > 1) SR
o 22 @ 2
728 8
©) 729 @ 9
dnfir e @, *) e » o e 9
TR & f A 2 2
(1) a*b=a
(2) a*b=|ab|

.3 a*b=a+b+ab
@) FHARETE )

" 53.

54,

8b.

56.

b7.

58.

The probability that-at least oné of
the events A and B happens, is 0.6.
If probability of their simultaneous

happening'is 0.2, then P(A) + P(—ﬁ)

is equal to
(1) 04 2 0.8
@ 12 4) 1.8

If two events A and B are such that
P(A) = 0.7, P(B A) = 0.5, P(B) = 0.4,

then P —(is equal to
AuB

1 1
o 3 @ 3

1 1
@ 5 @ 3
The mode of the following dlstnbuhon
Clasa 0-10 [10-20 [20-30{30-40 |40-50]50.60} 60-70{50-20]
Fraquencyls |8 H 12 26 [20 [10 jto i
is approximately equal to
(1) 40.67 (2) 43.67 ;
(3) 46.67 (4) 50.67 !

The mean of n observations is %.
If the first observation is |
increased by 1, second by 2, the

third by 3 and so on, then the

new meah is equal to

1) 5:-—-‘(3;—1)‘ @) %+ @n+1)

(3) a‘c-:-g%ll 4) x—(@2n+1)
The mean and_  variance of
binomial distribution are 4 andé
respectively, then P(x > 1) is

equal to
342
M) 343 @) ﬁ
728 8
3) 7og (CY I

For which of following definition
of *, the algebraic structure (Z, *)

is a group ?

(1) a*b=a (2)a*b=|ab]|

(3) a*b=a+b+ab (4) None ofthese
07




A+

59

62.

63.

07

. A G=

T HUF & —

) m&ﬁaa@%@m&ﬁam&g

F o asar=a S aTa § |

Q) suibE-ugg ¥ T R

ITEE T ARG TEETEd |
THIE L
(3 mfta uqy % i SR %
© IR AR WA R |

QR G = {0, H W IR

e =g T 8 |

RFTEEm£=(1342)(587) (96),
‘A A LFHREY

(1) 6
3 4

2 9
4y 12

[a], 8 R %1 0T g B,
a% a2 ¥ wi STEE % @ fam g
2-

(1) {a2 a4 ab al=¢}, {a3 ab,a%, 4}

@ fa%eb=e}, {5 3}, (%%, &,0%

(3) {a2,a’, as"e} {a®, a", a}
@ {82 a%; 2% a®=d}, {a, as, a5,

a’, a%
gaspiar £: (C, D — (C, ) ; flx +iy) |
=iy afe
M ¢ @ @
3 R 4 N
I T R

(1) T b 5 U 3T & ST R

(2) wicha SEalt 1 W= T G
TR

(3) TR demeill W 9ged
bR &R |

(@) i  dEed W =
nfefidia st 4 A ] |

|
|

12

597

60.

61.

62,

63.

Incorrect statement is -

(1) “There can be finite number ‘of
cosets of an infinite subgroup
of an infinite group.

(2) There can be infinite number

,of cosets of an infinite
subgroup of an infinite group.

(3) There can be infinite number
of cosets' of finite subgroup of
an infinite group.

(4) There is no coset of the group
G ={0}, )

If permutation f=(1342)(687)
(9 6), then order of fis

(1) 6 2 9
@ 4, (4) 12
If G = [a] is a cyclic group of

.order 8, then the quotient group

corresponding to the ' sub-group

generated by a2 is

() {a2;a% ab af=é}, {a5, ab, a’,a}

@ f{aa®=d}, {a%a}, (a8 a%, {a",a%

(3) {a2 a%, ab=e¢}, {a3, a5, a}

(4) {a2, al, ab, a® = ¢}, {a, a®, &b,
a’? 8;2}

Kernel of homomorphism £f: (C, +)

-G,V ; fx+iy)=iyis-

1 ¢ @ &

@ R 4 N

Incorrect statement is ’ _
(1) An ordered field is an infinite
field. _

(2) The set of rational numbers
is not a compléte ordered
field.

(3) The set of real numbers is an
Archimedean field.

(4) The set of rational numbers
is, not an Archimedean
ordered field.

L Bemc . o dae s = a1 Y% Wi mg oAty




64..

:ﬂ,e

65.

66.

67.

68.

1 »
qﬁgn [ ,1] YneN &, T"ﬁ {U&n]
n=1
% fom =t Sy @
(1) CHagmag=ae |
(2) T Frmam=ae |
(3) v HimT g “0” B |
(@) 3o € g Rremadi 2 |
TAREE - -
(1) -qfa <xp”, HIHH 3}: ?h' <Xon>
T SUTRA B |
'(2) alg <x,>
FR! IR B |
() = I <x>=<0,1,2,34,...>
|, @ <y,> = <0,2,0,2,...> 1t

" ¢ S9! SUREHHE B |

@) 9% <x,> FFHFT W, W <xp>
ST IR B |
Bt 1~ 2x+ 322 — 4od + ... ; H T

T FE -

(1) e x<— 1% foe sardi 2 |

@ ¥ |x]< 1 ¥ T P
- SPE0 R

(3) aﬁﬁx>1%ﬁm{mr‘c{aﬁqmﬂ
-4 |

(4) =gl

Wf(z)—21y%&ﬁ§q'{ﬁ?@fﬁ$

e R ?

(1) z=0 (2 z=1 f
3. z=2 (4) HaiE

2% g o % o, z = sinh u cos v +1
coshusinv 3 ufME SeTw=u +

iv RivoRs S e g e ? I
1) z=0 @) z=+1
(3) z=+1 (4) Z = ca

, T W, A <y > |

I

N

13

65.

66.

67.

68.

e,

If & = [%sl] V¥neN, then for

[UE_,,,] , correct statement will
n=1

be

(1) aclosed set

(2) an open set

(3) Its limit point will be “0”

4) Its Iimit point does not exist

LY

Incorrect statement is
(1) If sequence is <xn>, then

<Xon> will be i{s
subsequence.. -

(&) If sequence is <x,> then
<y, ;> will  be its
subsequence.

3 If sequence is <x> =

1

<0,1,2,3,4,...>, then’<y,> =
<0,2,0,2;...> will be its
subsequence.

If sequence is, <x,>,; then

<x,2> will be its subgsequence.

‘—‘(4163"{' ‘ru ;

@

For series 1 — 2x + 3x2
correct statement is
(1) divergent for x <—1 only
(2) Absolute convergent
| x| <1 only ‘
(3) Infinitely oscillatory for x >1
only ]
(4) All of these

At which point the function
f(z) = 2iy is analytic function ?

(1) z=0 @) z=1

3) z=2 (4) nowhere
For which ‘values of z do the
function w = u + iv defined by
z=sinhucosv+icoshusinv
ceases to be analytic ?

(1) z=0 @) z=+1

3) z=+1 (4 z=co

for,

07




69.

70.

71.

72.

07

UG, ¥) =%log @2 + y» =1 wgeh
WA} BT G §
(1) v=§+c

(2) v=tan! &] +e

(3) v=1log (ﬁ] +e
(4) v=cos™! x] +c

Z-ovae o el ¢ = 0, y = 0 3K

'\I§x+y=1‘éq&5ﬁﬁﬁﬁgﬁ1ﬂéﬁ
OGO w = el®3 7 & =i
Wars & shifee & R Yl @
el g, 9 € -

¢)] v=—%u,v= 3uv=1

<

1
@) v—\l—u,v—-— 3u,v=9g

1
3) v=—$u,v= 3u,v=y

@ v=\l—1§u,v=— 3y v=1

ﬂﬁmﬂ-i@mgaﬁmﬁmﬁz
wmwﬂmaﬁr a"r

W 2 @ 3\

® 2 @ 28

TEed y? = 8x, W ag forg, &l awhan
ﬁﬂrﬂ%%,@"ﬂ
NONTE

@ ©,0

o 43

14

[ 69.

70.

71.

72.

Conjugate harmonic function of

Ulx, y) = %‘ log (x%+ y2) is equal to

A
(1) v=y_te

— fan—l[L 1
2) v-—tanl(x)-i-c‘

3) v=log (ﬁ]%— ¢
(4) v=cos™! (ﬁ) +c

The image area of the triangular
region of the Z-plane bounded by
the lines x=0,y =0 and'}!g Xty
= 1 under the transformation
w = ¢i®3 Z in W-plane is bounded
by lines which are -

(1) vé—-\l_l—u,v= 3u,v=1

2) v—\ﬁu,v———\,gu,v=%
3) v—-—\l—u,v 3u,v=%
4) v—-;\l—u,v—— 3u,v=1

If length of perpendicular from pole
on tangent is 2 and length of radius

: ds .
vector is 3, then g is equal to

W 3 @ 23
@ 3 @ 2

Points on the parabola y2 = 8x,
at which the radius of curvature

is 7?, is

9 o (3
) [3,5) @ (2,3]
@ ©,0

o3

S




73.

74,

76.

76.

717.

78.

afe v

_[2*tY, el x+y 20
.f(x,Y) - { ‘l,ﬂﬁx-{-y:O,
(3 Tt
1) mTd (@) log2
@3 0 (4) 2
95 x = a (1 — cos 6) i ¥y TS}
(1) 4a (2) '32.a
(3) 162 ) 8a
1 x2 x+y
_[ _[ Ix dx dy dz TS
01 2y

1

M 35 @ 1
® 15 @ 3

x=03ﬂ'{x=g%‘imaﬁy=log

sec x % W 6} TS T ] "
(1) 2log3 (2 —2log3
(3) '% log 3 4 -—% log 3

d2y\32 (dy\L2
maarﬂw(d—;x) “(Eﬁ) ~4=0
=5t
(1) HR2m4uaE)
(2 =R 27 3ame )
(3) TR 4ameTase |
@) R 2ameumE

Aot FHIOT (y2 o + 2 xy) dx — x2
dy =0FT1E 8

(1) e-”—? =c @ e-“+a—;2“ =c
3 -e‘x—g =c (@) e‘x+%2' =c

h

Is

15,

77

78.

. If funection

2*tY, ifx+y 20

f(x, y)=.{ ity =0,

i .
then (6_3(1, " ig equal to
(1) does not exist(2) log 2
3 0 @ 2

. The entire length of the curve

r=a(l-cos9)is

(1) 4a @) 32a

(3) 16a 4) 8a

1 x? 1ty

I I Ix dx dy dz is’ equal to
0.1 2 :

o = @ 35

® 35 @ 5

. The length of the arc of the curve
y = log sec x between x = 0 and

x =% is equal to
(1) 2log3
3) % log 3

’n..

2 —21log3
@ —% log 3

2372 12
Differential equation (%3] - (%B
—~4=0is of '

“(1) order 2 and degree 4

(2) order 2 and degree 3
(3) order 4 and degree 6
(4) order 2 and degree 6

The solution of differential
equation (y% e* + 2 xy) dx — x2 dy
=0is

e 2 NNE
(l)e-—y—-c (_2)e+y—-c_-

3) e*x-—g =¢ (@ e‘-"-l-'x—z =¢

y
07



79. EFT E‘Fﬂﬂ?@T—x-}- %y =

e
*‘W‘T‘% -
oFg) o
@ (ex_zx% O G

80. zr&u’a%nvaqawmﬂwg—;x+P

T,quZorawmuq
(dvd

W%Wa@ﬂw%)
) ~a ™ (@) 5P
(3) -a dex (@) e?Pd

81, IR f(x, y) = log\’xz +y2, @ grad
fm% ™

= Aty

@) x2+y

(1) \/—Z%
+
ﬁi@) 25;2—%9 @ 2\’,‘177”;

82. WM ¢ T AW g wom B IR f0H
wiew forg wA &, T curl (¢ ) TU R
(1) ¢ (curlEy~£x (grad ¢)

. 2) ¢(divik-£fx(grad ¢)
() ¢ (curlf] +£x (grad ¢)
4) ¢ (div D X (grad ¢)

83. qﬁ?’=xi93j+(z2-1)Kamam
sqEl z=0, z= 19 2% +y2 = 4 R

x1+

mwﬁ,'ﬁfﬁ’—.ﬁde‘ﬁmﬁ .

5

TR 2
@ = @ 2=n
@ 3n @ 4%

07

—vww% @, Q: %

16

79.

80.

81.

82,

83.

L

Particular integral of differential

—X

equation % + 2y = m is

o (s oFE

—2x e
®en O Ea

If u and v are the two solutions of

‘differential equation g—;! + P Q!

Qy =0, then( (}_dz —vg—j is equal
to — (P, Q are functions of x and a

-18 arbltrary constant)

@ a e JPd
4 e—afP.dx

(1) -a /T
3) -a dex

If f (x, y) = log '\f:lc2 +y2, then
grad f is equal to

A

<1>—”- ® 244
'\’x2+ 2 x2+y
x1+ x1+2|
(3) 2 2y @ 22+

Let ¢ is a scalar point function
and f is- a vector point function,
then:curl (¢ f) is equal to

(1) ¢ (curl  — £ (grad ¢)

@) ¢ (divi —1Ix (gradd)

(3) & (curl ) + £x (grad ¢)

4) ¢ (div ) +£x (grad ¢)

Iff')=xi—-yj +(@?-1)Kandsis
the cylinder formed by the
surface z =0, z= 1, 2% + y>'= 4,

then value of f F-Adsis equal to
-3

1) =

3) 3=n

2 2=n
4 4x




84.

85.

86,

87.

T FYAE -

(1) 22+y2+222—-2x+3y=07R
w1 gl T R |

2 2+y2+z2—-2yz+4x+2z=
0 e T TR T R |

@ 2 +y2+22—-2x+4y—6z-—
11 = 0 7 1 WSO AL R |

@ 22 +y¥+22+2x+ 4y +6z+
15=qrha‘*a;ra=nw=|€f%l

frg A2, 3, 9 F17Ia S wRg gt
e 3x — 2y —4dz+ 1 =02 T
T W wg (1, 1, 0) |, aF T A
i gt
1) 2
@ 3

g (B y) & T awh e,
Toeht femriamd al? + bm?2 +cn? =0
) T F ], RANa TG R -

(1) ax®+by2+cz2=0

(2) a@x?— o) + Dby —B) + c(z% —7)
=0

a?(x — )2 + b2y — P)? + c*(z —
=0

@ 2

@ 1

&)

(@) a(x—0)? +bly - B)2 +c(z - 1)?
=0
Hor H afientu, T S 2319 5

U YT 06 ax? + by? = 2cz,
Ix+my+nz=p®H HRAE, T xH
Ui, y <l T AT 3R UG FH:
2 428 @ ( +m):pWETE -
1) 3:1 2 1:3
@) 2:3 . (4 3:2

H

)
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85.

86.

- 87.

. Incorrect statement is

(1) 22 +y2+222-2x+3y=01is
not equation of sphere.

2 2+y?+22-2yz+4x+ 2z =

' 0is not equation of sphere.

(3) 22 +y2+ 22— 2+ 4y — 6z —
11 = 0 is not equation of
sphere.

@) 22+y2+22+2x+4dy + 6z +
15 = 0 is not equation of
sphere.

Polar plane of point A(-2, 3, 4)
with respect to a sphere S is 3x —
2y —4z+ 1 = 0 and centre of
sphere is (1, 1, 0), then radius of

sphere is
) 2 @ 2
@ 3 @ 1

Lines passing through the point

(o, B, ), whose direction cosines

satisfy al2 + bm2 + en2 = 0,

generate the cone

(D) ‘ax®+by2+cz2=0

(2) a(x®—0)+bF2—P)+c@z—7)
=0

@) al(x—0)? + b2y — P)? + 2@
P?=0 _
a(e— )2 + by - B)2 + ez — y)2
={Q

@

In the equation of cylinder,
generators are parallel to z axis
and intersect curve ax? + by? =
2cz, Ix + my + nz p, the
coefficients of x, y and constant
terms are 2, 4 and -2
respectively, then (¢ + m) : p is
equal to
(1) 3:1
3 2:3

07




Rt

88

90.

07

0w W FHw q 7&ll Pk Q W
aiomft (2m + 1)\PZ+Q2 ¥ | 3R
ﬁﬁwﬁw(gue)qtmﬁé’f‘a}
SRomdt (2m — l)VIﬂTQz% @ tan
O ST E -

2m-1 m+1
D gm+1 -

m-—1 2m+1
@ m+1 @ om-1

. e Tty 3 Fferifes = %

Heh qOsk B & 9 e gl
g ?

(1) e¥? (2) e¥?2

(3) e2v @y 2v¥

T HO WA HAEd AN F oA 3,

o siadeer T 8, o geo e

% Torg & 3 3 % oe =i gl

e ana g —

o [3

&) @ 3

b2 =3

® @ 27

[CR R,

18

88.

89.

] 90.

) 8

The resultant of two forces P and

Q actmg at an angle 0 is equal to

(2m @ \/P2 + Q2. If both forces

, act a‘Nan angle( ——) the

resultant is 2m — 1) '\f_P2 +Q2,

then tan 0 is equal to

2m-1 m+1
D o1 2@+1
mﬂ-l 2m+1
@ a1 @ om—1 '
N
)

If the con;ponents of tangential
and normal
equal, then the
direct%iproportional to

(2) e¥?2
@ 2¥

acceleration be

velocity 1is

@) e

3239

A particle moving with simple
harmonic motion has a peried T,
then the time taken to move from
the w<position ‘of maximum
displagment to one in which the

displ{Bment s half  the
ampli&lde, is '
T T
63 @ 3
T
® 3 @




"o1. gt Pl 2.5 %R o e e wta

% 5.5 ¥R i 1 o @ G0 1w

£ | g ofifal o wog 3 @ awe I |
R v gifel o awe § o e

W Wi s w200 B

TN TEH P S S H 40 R |
1T i w gwig # faem w1 =5 80 3@
B & | ghfal = s wE % e T 90
TR o i AN :%0
gfifal it @ it snavasm 8 | siftreean
< 3 o e WA 7 ST

(1) W (Z) = 2.6 x; + 5.5 x
Tl 2.5 x; + 5.5 x5 < 90
x, +xp 2> 30
3l
(2) e (Z) =-0,4 x; + 1.2 %,
Wices 2.6 x; + 5.6 x, < 90

X1, x22 0

Xy + x5 > 30
IRz, %20 ”
© (3) fwaE (2) =-0.6x; + 1.2,
R 2.5 %) + 5.6 x5 < 90
X + x5 <30
afik x1, X2 0
) aqﬁmtr(zﬁ-o.zleu.zﬁz

gfeswy 2.5 x; + 5.5 x5 > 90

%y + %52 30

3ﬂ-{' X1, x22 0

91.

Old hens can be bought at ¥ ;3:.5
each and young ones at ¥ 5.5
each. The old hens lay two eggs
per week and young ones lay five
eggs per week, each egg of old hen
being worth 20 paisa and each
egg of young hen being 40 paise.
A hen costs 80 paisa per week to
be fed, there only ¥ 90 available to
spend on purchasing the hens and
it is required to house at least 30
hens at a time. Formulation of
linear programming problem for
maximum profit is -
(1) Max (Z)=2.5x; +5.5 %,
8.t. 2.5 2, + 5.5.x, <90 -
2 %280
and x;,x,>0
(2) Max (Z)=-0.42x, +12x,
8.t. 2.5 x; + 5.5 %, <90
%y + x5 > 80
and x;, %20
3) Max (Z)=-0.6x;+1.2x,
8.t. 2.5 %, + 5.5 %, <90
X, + x5 <30
and x;,%,>0
(4) Max (Z)=-04x, +1.2x
s.t, 2,6 x; + 5.5 29 > 90
Xy + x9 230

xl, xzz 0




92. HAT =X x; > 0 T x, > 0 Wiem=dt

93.

04,

07

x1+x223?_{€l1x1+2x22ﬁ4,'=ﬁ

R HEaE T i s ?)?

(1) 5x; + Tz, 1 Arwem 71 21 B
qUT FEHT Hi3 IR I HH
TER | :

(2) 5y + Tx, =l *GTEH 4 173 e
A

(3) By + Ty o Hftrehe] W 21 0
THHT < A 178 |

(4)5x1+7x2$17¥1?ﬁqﬁ:ﬁﬁ‘

IR 7 W & uikm <man
el . .

et

(1) =iEh 8 7% 73 damas & Few
T Tfataiy dfd s |

(2) e gren 6 o Ty fafar 2 |

3) warE T ST S % i
TATHR TR E |

@) waf

AR fpaem B d n - R FoEh @
R fa) {(b) < 0 &, fﬁﬁm IS
fx) = 0 % 7t Forer B, SEh s 2
b2 — gt

2!1

b-an
2n

w2 @

b

3 (4)

—a
2
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1 92.

93

94.

Suppose-that the'variables x; >0}

and x, > 0 satisfy the constraints

%; + x3 > 3 and x,'+ 2x, > 4, then

which of the following is true?

(1) The maximum value of 5x; +
Tx5is 21 and it does not have
any finite minimum. .

2 The minimum value of 5x) +

Txyis 17 and it does not have

% -
any finite maximum.

(3) The maximum value of 5x; +
7x5 is 21 and ‘its minimum
value is 17,

(4) Bx; + Txy neither has a finite
maximum nor a finite
minimum.

The assignment problem

(1) requires that only one
activity be assigned to each
resource. :

(2) is a special case of
transportation problem.

(8) can be used to maximize
Yesources.

(4) All of these

If f(a) f(b) < 0 in the bisection
method after n — iteration, then
the length of interval, in which
root of f(x) = 0 lies, is .

w2 T
@52 @&




95.

96.

il sh e saT g R ?
m y=22% (u—%)AyaJr

u(u-1) A%y 1 +A% +
2 2

'(u-*-%]u(u—l) I
8
—— Ny

oY

1
u[u"i] [A2Y—1+A2Y0 ] .

@ y=3"N

95. Which of the following is Bessel
interpolation formula ?

+
&) y=-’3—§¥i+(u—§]flyo +

u(u-1){ A%y_ +A% g N
|2: 2’

(u—%]u(u-l)

B
+ 1
@) y=l’“2—“+[u—§)m +

1
u[u__J [ﬁzy 1'*‘523’0 J

Ady_ +...

2 2 ”
1 = i
u—= |u(u-1) 1
( | 2] A%+ [u—i)u(u—l), .
{3 B 3 Aly 5+ ...
@ y=YIY0, (u-1)Ay, + ity _“
2 ® y=S1o"t+(u-1)Ay, +
1
u(u——] 2 g 1 L
o 2)[ Ay, +A%y_ - :
. 2 [ 1 2 2_}— u[u 2J Ay +A%y., +
1 2 :
(u——]u_(u-l) 1)
2 Ay ... [u—a)u(u—l)
S ) e Ay
Yo+ ufu-1 -
@ y= +(u-1)Ay, + ilu-
g | 2 2
A Y--l +A y_2 + 2 2
'——‘2 Ay +A%y » 4
. 2
u—= |ufu-1) 1
[- ] 2?_3- ABy._1 n (u—-é-]u(u—l) .
Ay +
13
TR, T ~- = a®
o %‘“‘ ! W oy 96. Solution of difference equation
(x+1) Wiﬁ‘l ) Vos1 — BY, = a* (¢ + 1)2is
a‘ o & av1 -
(D) ca*+ 7 (@ ca x+1 ! (@) ca¥+, 7 (@ ca*-7 7
x-1 x
5 . 4 £ 4 a1 x
@ ca’-2y1 @ea'riny | @) ca®= 77 @ ea®™t T
21 07




97.

98.

g:z: HIHA IO R

1 3 @ 2

3) 6 4“1
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99,

100.

101.
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102.

108.
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Frafefien 3 @ 25 @ =@ % wffww

¥ GO Y& 1 T el 2 7

(1) 0y @ T

(3) IR (4) T
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Q) frsafRr

@) & e g e e o e
waaa iRt |

(3), T@E H TR R FARART FT Y |

(4) TEATHE |

TR R & fr=ifeg § @ =g 9

Tty R & fogia ol | oned B

IR T I S & 2

) Trmeers &l

(2) Gvewunens iy

(3) anE wyE faft

(4) T it

Tivr fieror <A Pr=ifed F @ WA W@
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97.

a8.

o

99.

108,

22

100,

101,

102,

3.3 T.

Value of V2x2 is equal to
. vl

(1) 3 @ 2
3) 6 @1

Which of the following is incorrect

about nature of Mathematics ?

(1) Mathematics is logical.

(2) Mathematics is systematic.

(3) It is a study of patterns.

4 It does not proceed from
undefined ferms to theorems.

Which of the following is the
simplest behaviour of psychomotor
domain ?

(1) Precision (2) Articulation
(3) Imitations (4) Manipulation

Which of the following is not the
component under'cognitive domain
of Bloom Taxonomy ?

(1) Comprehension

(2) Valuing )

(3) Application

(4) Evaluation

Which of the following is incorrect

about inductive method of teaching
mathematics ?

(1) Itis apsychological method

(2) Principles and lawa drawn using
this method are always true,

(3) It discourages cramming,

(4) It is scientific. _

Which of the following method of

teaching mathematics follows the
‘maxim ‘Concrete to Abstract’ ? .

(1) Deductive method

(2) Synthetic method

(8) Problem solving method

(4) Laboratory method

Which of the following® method- of

teaching mathemaucs, applies
deductive reasoning ?

(1) Analytic method
(2) Synthetic method
(3) Laboratory method
(4) Proj_éct method
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104.

105,

108,

107.

108.

Which .of the following is correct
about supervised study ?

a. It may be individual.

b. It may be collective.

¢. Teacher act as a supervisor.
Choose the correct option from
given options
(1) aandc
(8)-bandc

(2) a,bandc
(4) aandb

Linear programming is based on
the theory of

(1) Classical conditioning

(2) Operant conditioning

(3) Trial and error

(4) Insightful learning

A lesson plan includes «
a. Instructional objectives

b. Teaching methods

¢. Evaluation sirategies

Choose correct answer from given
options :
(1) aonly
(3) conly

(2) a,bandc
4 b a,:f1d c ?enly

In unit planning, units should be

a. well defined

b. meaningful

¢. complete sub-division of syllabus
Choose the correct answer from
options below :

(1) aandbonly.(2) aandconly
(3) bandconly (4) a, bandc

Which of the following are
essential considerations while
selecting audio-visual media for
mathematics teaching ?

a. Relevance

b. Availability

¢. Physical condition

Choose correct answer from below

options :
(1) aandb (2) a,bandc
(3) bonly (4) aonly
07
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109

110.

The relationsHtip of mathematics
with social science is an-example of
(1) Co-lateral correlation

(2) Multi-lateral correlation

(3) Bilateral correlation

(4) Negative correlation

An effective mathemaftics teacher

a. need not require teacher training
b. require proper adjustment

¢. require depth knowledge of maths
Choose correct answer from given
below options }
(1) aandec
(3). a,bandc

(2) bandec
4 conly -,

111, While designing a curriculum of

112.

113.

mathematics there is a need of
taking decisions regarding

a. syllabus ’

b. classroom experience

c. evaluation

Choose coirect answer from below
given options :

(1) aandb @ b anci c
(3) aande (4) a,bandc
‘Ganitpada’ written by the Indian

Mathematician Aryabhatta, contains-
a. Geometrical concepts

b. Arithmetical concepts

c. Algebraic concepts

Choose correct answer from the

‘options below :

(1) a,bandc

(2 onlyaandb

(3) onlybandc

(4) only.a .

For evaluating a mathematics.
lesson a teacher gave the following
question.

‘Define a wuniversal set’. This
question measures which level of
cognitive domain ?

(1) Application

(2) Understanding

(3) Knowledge

(4) Analysis
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114,

115.

116,

| 117.

23

_options below :

The  question “write  three
examples of non-empty asets”,
measures which of the %owing
level of cognitive domain 7¢.9

(1) Analysis o
(2) Evaluation (@)
{(3) Application ﬁ «

{4) Understanding

In an achievement test, a teacher
gave the following question :

‘A number divisible by 2 is known
as odd number’. True / Fals&a

It is an example of B

(1) Subjective type questidnd

(2) Objective type questioriw?

(3) Short answer type quesiion

{4) Essay type question _3

Consider the following question
included in an achievement test :
The area of square whoseygide is
equal to 8 meters is N

() T4sqm (@ 32 st

{r) 64sqm (s) 8ls

The above question is an gzample
of o

a. Short answer questions

b. Multiple choice questions

c¢. HEssay type question

d. Objective question

Choose correct answer the

&
(1) onlyb (2) b anB&
(3) onlyc @ band

The enrichment programme for

gifted learners does not include

a. asking to solve more difficult
question

b. asking for deep study

¢. reducing & simplifying
curriculum

Choose correct answer from the

options below:

(1) aande

(3) oniyb

(2) bandc
(4) onlyc.
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118, AT 18.971 1 IR 9.3

9381 19391
1) — Q)
D 5 @ o5 |
9281 . 9291
g) 9281 4y 9291
® o5 @ o5
2% x 3V 2o@7yY 1
119. qﬁ 23 X33x = o7
?ﬁ(x—y)'ﬂl'lﬁ'(%
(1) -1 @ 1
@0 @. 3

120. IR HeM.x T 3 G BT I
W@ﬁ(ﬁ@-yﬂ?ﬁﬂﬁiﬁa
ammguﬁ@vga’fa’t(x+y)$maﬁ
Eﬁamww% ’
1) 2 2 3
3 7 4 10

I

121, wE@AT (52)°7 X (43)72 % g 1 37 @
=) 2 . @2 1
= :‘(3) -6 4 0

122. zrl%oér;amADammﬁQﬁﬁ‘

e AB, BC a3k CD wusx & @t

ZAOB U= & ‘
(1) 45° (2 60°
(3) 90° (4) 120°

123. 7 T H B [ B H G A,

I GRS S % T % WK &,
For g

(1) 30° 2 36°

(3) 44° (4) 60°

07

26

118 The rational form of the number

-

[

ﬁ!'

18.971 is’ L o-
9381 9391
1) —— 2) —
@ 495 @ 495
= am 9281 9291
Y 3 4) ——
Dl () 495 @) 495~
3% x9¥ >-<(3'1*”2)"2 @y _1-
then {(x—vy)is equal to
(1) -1 2) 1
3 0 4 3

120. If 3 is the least prime factor of a

number x and 7 is the least prime
factor of number y, then the least
prime factor of (x + y) is equal to

1) 2 2 3
3) 7 4 10
121, Unit digit of the number
(52)%7 x (43)72 is
(1) 2 @ 1"
8) 6 4) 0

122. If AB, BC and CD are equal
chords ,of a circle with O as.a
centre and AD diameter, then

ZAOB is equal to
() 45° 2 60°
(3) 90°

(4) 120°

1238. If five times complement of an
angle is equal to two times of its
supplement, then the angle is

(1) 30° (2) 36°
(3) 44° (&) 60°

-
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124 AR d, s Y@ L, W1 L, &

A

126.

AR & 3R @ Ly, 3@t L, % a9
eaPm iR T adty?

L2

L

L,

|

(1) y°=90° + 3 (2) y°=.180°—°
2

=]

@ y° =900 -5 (@) y°=90°+x°

fingst ABC ¥, afe w1 A = 66° T

H B 7uT ®IW C % 3= 3bS
firg, ‘0’ W wftr=Rg F@ R, 7t LBOC

H AT
(1) 57° (2) 60°
(3) 114° 4) 123°

( 126. 9f w =@s ABCD % frul @ gt
! THHIV T HEA € 9 LA = 90°
A, 9 =qis ABCD Gh 2
(1) Guer= (2

L 3 = @) TS

} 127. @% =% ABCD #, P, Q, R 3k S
Y YW AB, BC, CD 3R DA %
1 g &, AP A} s T ww
27
(1) PS=QR
(2) PQ|IRS

(3) "PR 3R QS wrer afgniyea 1 &
(4) PRL1QS

27

124. In given figure, if line L, 1is

126.

126.

127.

parallel to line L, and Line L3 is
parallel to line Ly, then which of
the following is correct ?

| Lo
s
/

AS o
/> 4

14

() y°=90°+7g () y°=180°-2°

@) y°= 90°—52: (4) y°=90°+2°

In triangle ABC, if ZA = 66° and
the internal bisectors of £ZB and
£C intersect at point ‘O’, then

the measure of ZBOC is
(1) b7° (2) 60°
3 114° (4) 123°

If the diagonals of a quadrilateral
ABCD bisect each other at ‘right
angles and ZA = 90° then
quadrilateral ABCD is a

(1) trapezium (2) rectangle
(3) square (4) rhombus

In a quadrilateral ABCD, P, Q, R
and S are mid-points of sides AB,
BC, CD and. DA respectively,
then which of the following is not
true ?

(1) PS=QR
(2) PQ| RS
(3) PR and QS bisect each other.
(4 PR1QS ’
07
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128,

129,

130.

131.

07

AABC #, 0 T aamﬁm-ﬁ‘@%, @
e S e S a wuTad R 2

(1) (OA+ OB+ OC)‘>%
(AB +BC + CA)
@ (OA+OB+00)<j

(AB + BC + CA)
(3) (OA+ OB +00) =

(AB+ BC + CA)
(4) (OA+0OB+00C)>

(AB + BC +CA) .
o 1 ‘O’ 99 %1 %% ®, 919 BCD @
F3 W I T 140° 8, BCH P
ﬁfﬁ'ﬂﬁlﬁgk FI% /DCB |2 -

T :P

(1) 70° (2). 110~

(3 100° 4 120°

Tt ragdw 6 TRy 146 oft. 2
T T9F O el 6 o 55 Ol
R, THH 5 B

(1) 1120« fasdfi. (2) 1420 aﬁﬁrﬁ
(3) 1320=i&ft. (4) 1330 =i @i,

fe& fom o, LAOB =90°, AC = BC,
OA = 12 &, 9T OC = 6.5 &l 7@
AAOB %1 85 8

12cm

(2) +32.5 q4i.2
(4). 30 5.2

)
1) 60%H.2
(3) 7842

28

128,

129,

130.

131.

'O is any point in the interior.of
AABC, then which of the
followmg statement is correct ?-

{
Q) (0A+0B+OC)>%
(AB +BC + CA)
@) (OA+O0B+00)<3

, (AB +BC+ CA)

(3) (CA+0OB+0Q0C) =

(AB + BC +.CA)
(4) (OA + OB+ 0C) >

(AB + BC + CA)
In the figure, ‘O’ is the centre of
circle, the angle subtended by the
arc BCD at the centre is 140°. BC"
is produceg to P, ZDCB is equal to

(1) 70° (2) 110°

(3) 100° (4) 120°

The perimeter of a rhombus is
146 cm and one of its diagonal is
55 cm, then its area is

(1) 1120 8q. cm. (2) 1420 sq..cm.
(3) 1320 sq. cm: (4) 1330 sq. cm.
In the given figure, ZAOB = 90°,
AC=BC, 0A=12cm and OC =
6.5 cm, then area of AAOB is

A
12em| - AC i
d. B
- (1) '60 cm? (2) 32.5 cm?-
(3) 78 cm? (4) 30.cm?
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134.

136.

136.

137.

Y. s 4 okt ot 8 1 T g

24 wot ¥ T 1 7% GRAT 1 AV FH
2 (x=3.14)

(1) 956.548d. (2) 954.56 4.
(3) 864.56dH. (4) 856.54 3.
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£ | arefiien qut S°F YRS I =7
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() 2313H.2 (2 154 5t.2
(3) 77 &2 (4) 210 FHh.2
=18 1 adfi. Ieft 4 9. weft of i
TF B I THEEN Hers T 9 . o
T a1 % €9 7 951 Tl & 199 R H
EI'R-T%:

(1) %@rﬁ @) %inﬁ.

@) 3 ﬁzﬂ @ 7 a;ﬁ

qasmvfﬂﬂ%m Rreht Sar§ qen
oI Ws 12 Tt ® w1 oo WA
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1) 48R
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132.

134.

*‘In .a :circle with centre

“O” and
radius 5 em, AB is a chord of
length 5 ‘\E- em, then area of
sector AOB is

(1) tem?  (2) % 7 em?
&) '“3" cm? (4) %ﬂ cm?

: The long and short hands. of a

clock are 6 cm and 4 cm long
respectively. The sum .of the
distance travelled by their tips in
24 hours is equa} to (1.~ 3.14)

(1) 956. 54 cm (2) 954 56 cm
3) 864.56 cm (4) 856: 54 cm
The ratio of the volume ‘of a“cube
to that of the largest sphere
which will fit inside the'cube, is
(1) 36: ¢ (2) 6: ¢

3) n:6 4 4:%

. A vessel is in the form:of.a hollow

hemisphere mounted by hollow
cylinder. The diameters of the
cylinder and hemisphere ig 7 cm
each and the total height of the

vessel is 10.5 cm, then the surface

area of the vesselis '
(1) 231 cm? (@) 154 cm?
« (3 77 cm? (4) 210 cm?

136.

137

"(3) 4em

A copper rod of diameter 1 cm
and length 4 cm is drawn into a
wire of length 9 m of uniform
thickness, then the diameter of
the wire is

1
(1) “;‘cm (2 g em
1 1
(3) 3gem () {gem
The surface area of a sphere 1is

same as the curved surface area
of a right circular eylinder whose
height and diameter are 12 cm
each. The radius of the sphere is
(2) 6cm

(3) 8cm (4) 12-cm
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188, fouma WgUg «2 + 99x + 127 % IS
i
(1) Qi TR
@) Tl e
(3) T HATCHS, a1 Toh BV
(@) SiEEH

139. afe Tfie 13 + px® + qx+r=0%
T o, B,y B/, o Tl o8 — qa +
pra—-r2=0F TN &

(l)Bﬂl

2 @+B),B+y), (y+0) .
(3) of, By, v

B, x o
L@ o, BTy

140. El'EEf(x)=ax3+b:x‘:2+x+-§-‘T{ﬁﬁ.K‘

HIT 19fe (0 + 3), () FT T @S |
4T £(x) F (¢ + 2) @ TR =@ =5
ﬁmlﬂm‘aﬁ,?ﬁa:bw%

(1) 457:1438  (2) 143:457
(3) 143:108 . (4 457:108

141, I Tfigor 22 + ax + 4 = 0 %1 & 4,

EIFHIGHIR, W awram
(1) 32 @ +8/2
@ 2 @ 22
142, AR a, b T ¢ TR A F ¥ @
FHIRT ax? + b+ ¢ = 0 1 Th g 2

&, Al g :

@ 2 @ -2

® 2 @ -2

1+
143. uf%:[ J-1€r,_?ﬁmm=§m

IS PIHE AT

A 4 2 3

3) 2 “@ 1

07

1 138.

141.

142,

|
f
| 143.
!
|
|

30

139.

140.

The =zerces of a guadratic
polynomial 22 + 99x i 127 are

(1) both positive < .-

(2) both negative .
(3) one positive and one negative
(4) both equal

If the equation x3 + px% + gx + r = 0+
has the roots ¢, B, ¥, then the roots of

the equation 22— g2+ pre—1r2= 0

are -

o ng X

@) (o+p), B+, (y+ )
(3) of, By, Yo

Bg. 1, @
“) (I+Y,B+a,'!'+ﬁ
Consider a polynomial f(x) = ax3 +
ba? + x +2 If (x + 8) is a factor of
f(x) and if x) is divided by (x + 2),
then remainder is 5, then a : b is
equal to
(1) 457= 143
(3) 143:108

(2) 143:457
(4) 457:108

If one root of equation x2 + ax+ 4 =0
18 twice the other root, thén the

value of a is
@) +8\2

Q) +3\2
@ +22

@ +2
If 2, b, ¢ are in arithmetic
progression and one root of the

equation ax® + bx + ¢ = 0 is 2, then
the other root is

5 5
™3 - @ -5
5, 5
@ 7 @ 4
1+; " T
If =) = 1, then the least
-1
positive inte_ger value of m is
1 4 2) 3
3 2 @ 1




144, T FAR A % 0’ 98§ H A 4n? +
5n%,?hn3|fq'q'%

1) 9n-1 (2) 8n+1

(3 4n+9 (4) 4n-3

Tfe; o, 74T B & Vet g Wity ded
&5 Jol = [B] T FIE (o) +

145.

HIVIH (B) = 7, T oL W 8 g
m B @ ~B €
® B 4 - B g
146. Dcr+n'10r+---+rcr(n>r)a§t%
(1) 2» @ ™lc,
@ loy @ %
W
147, 3ot 1 +§+%+-1-lé%+ ... 3TF qal
. X
TP F AN SO 2 P
35 5 0
M 16 @y B
16 7
® 35 @ 7
12 .
148. (x+-1—2) ¥ R § x HRa wg B
. (¥77
T ? ) S
(1) -4 @) eaf g
3) 541 4 50 OO
3) €Y 2
wh

9 10
us, |24 2 | Svmidnmad
3 2x°F

(1) 156
(3) 260

(2) 252
(4) 180

(1) 1-c2+By=0.
(2). ¥ +Py~1=0
8) aZ+Py+1=0
4 1+o2-By=0

144,

145.

(@ B

147.

148.

149,

160.

co
o
-y

The sum of ‘n’ terms of an AP, is

"4n? + bn, Then the nt term is

(1) 9n-1 (2) 8n+1

3 4n+9 4 4n-3

If o and B are two non zero
complex numbers such that
lae]l = Bl and arg(o) + arg(@) =,
then ¢ is equal to ' ORT
@ -B

@) B @ -B

.nCr+n‘10r+~--+rCr(n>r)is

equal to
() 2n

@ 1oL,

) n+1 Cr
4 Il+2cr
7

, . 4T
The sum of the series 1 + 5 + 25 +
10

o5 * - infinite terms is equal to

™ i

.16
3 38

@)
4.

N PN T T

, 12
In the expansion of (x+ -—2-J ,
x

" which term is independent of x ?

(1) 4tk (2) Gth
(3) 5th 4) 3d

The middle term in the expansion

22 3 Y .. -
of (_é_ +E_2-] , 18 ‘
x
(1) 156 (2) 252
(3) 260 (4) 180

o
If square of the matrix [ P ] is
Y -o

a unit matrix then o, B and vy
satisfy the relation

(1) 1-02+By=0
2 o2+By-1=0
@ o2+By+1=0
@ 1+o?-By=0
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